

TO VALIDATE, GO TO Certificate Number: GI-COO-57737-67cf3f7066e28

**VERIFY.FTGS.US** Date: March 10, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Export Date 2025-03-06	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401510091746
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road, Chilechuan Dairy Dev. Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1,550bales Total: 655.289mt



D <b>escription</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lfalfa Hay	21.945mt	United States
Marks: TXGU5312777 52bales		
lfalfa Hay	20.72mt	United States
Marks: TCNU2405549 50bales		
ulfalfa Hay	23.206mt	United States
Marks: TIIU5396141 52bales		
ulfalfa Hay	22.036mt	United States
Marks: TEMU6443402 52bales		
alfalfa Hay	21.128mt	United States
Marks: TRHU5107747 48bales		
ulfalfa Hay	21.745mt	United States
Marks: EGSU9477407 52bales		
lfalfa Hay	21.437mt	United States
Marks: EMCU1742486 50bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-57737-67cf3f7066e28

**VERIFY.FTGS.US** Date: March 10, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Export Date 2025-03-06	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401510091746
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road, Chilechuan Dairy Dev. Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1,550bales Total: 655.289mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	22.68mt	United States	
Marks: TRHU5807191 51bales			
Alfalfa Hay	22.616mt	United States	
Marks: BMOU5242502 52bales			
Alfalfa Hay	21.437mt	United States	
Marks: TRHU8672757 51bales			
Alfalfa Hay	21.128mt	United States	
Marks: EMCU8616860 52bales			
Alfalfa Hay	21.455mt	United States	
Marks: TXGU5545634 52bales			
Alfalfa Hay	21.41mt	United States	
Marks: EMCU8458722 52bales		XXXXX	
lfalfa Hay	21.219mt	United States	
Marks: EGHU9492075 52bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-57737-67cf3f7066e28

**VERIFY.FTGS.US** Date: March 10, 2025

Transport Type Port of Loading Seller (Exporter) Vessel LOS ANGELES Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **TianjinXingang** CA USA **Export Date Exporting Carrier** N/A 2025-03-06 Consignee INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Import Permit Number Bill of Lading / AWB Room 302,3rd Floor,Jinchuan S&T Park, 401510091746 Jin'er Road, Chilechuan Dairy Dev. Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road, Chilechuan Dairy Dev. Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1,550bales Total: 655.289mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.5mt	United States
Marks: EGSU1306120 52bales		
Alfalfa Hay	21.89mt	United States
Marks: EGHU9566856 52bales		
Alfalfa Hay	22.607mt	United States
Marks: TXGU5618915 52bales		
Alfalfa Hay	22.426mt	United States
Marks: TCNU3819184 52bales		
Alfalfa Hay	21.573mt	United States
Marks: GAOU6931125 52bales		
Alfalfa Hay	21.7mt	United States
Marks: SKIU9095149 52bales		
Alfalfa Hay	21.736mt	United States
Marks: TGBU4346722 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-57737-67cf3f7066e28

**VERIFY.FTGS.US** Date: March 10, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
Consignee	Export Date 2025-03-06	Exporting Carrier N/A
NNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Room 302,3rd Floor,Jinchuan S&T Park, in'er Road,Chilechuan Dairy Dev.Zone,	Import Permit Number N/A	Bill of Lading / AWB 401510091746
Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road, Chilechuan Dairy Dev. Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1,550bales Total: 655.289mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.172mt	United States
Marks: EMCU1708666 52bales		
Alfalfa Hay	22.027mt	United States
Marks: CAIU9788030 52bales		
Alfalfa Hay	22.072mt	United States
Marks: EMCU8657025 52bales		
Alfalfa Hay	21.936mt	United States
Marks: TIIU5402727 52bales		
Alfalfa Hay	21.845mt	United States
Marks: EGSU1287078 52bales		
Alfalfa Hay	21.836mt	United States
Marks: EGHU8289572 52bales		
Alfalfa Hay	22.643mt	United States
Marks: TIIU5050673 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

TO VALIDATE, GO TO Certificate Number: GI-COO-57737-67cf3f7066e28

**VERIFY.FTGS.US** Date: March 10, 2025

Transport Type Port of Loading Seller (Exporter) Vessel LOS ANGELES Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **TianjinXingang** CA USA **Export Date Exporting Carrier** N/A 2025-03-06 Consignee INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Import Permit Number Bill of Lading / AWB Room 302,3rd Floor,Jinchuan S&T Park, 401510091746 Jin'er Road, Chilechuan Dairy Dev. Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road, Chilechuan Dairy Dev. Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1,550bales Total: 655.289mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	21.428mt	United States	
Marks: DRYU9546783 52bales			
Alfalfa Hay	21.736mt	United States	
Marks: TRHU4417141 52bales			
end of products	====	<b></b>	
	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein

# GI-C00-57737-67cf3f7066e28/March 10, 2025

### Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

### **COMMERCIAL INVOICE**

Invoice No.

SD-202502025

Date:

2/20/25

Shipper/Exporter:

Vessel:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA **Consignee:** 

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Room 302,3rd Floor,Jinchuan S&T

Park, Jin'er Road, Chilechuan Dairy Dev. Zone, Tuzuo

Banner, Hohhot, Inner Mongolia

EVER FRONT Contract No.: SDHT-HGLC-2025-2

**Voyage No.:** 1389-031W **Booking No.:** 401510091746

Shipping Line: Evergreen Country of Origin: USA

**Port of Loading:** LOS ANGELES, CA **Discharge:** TianjinXingang, China

**ETD:** 3/6/25 **ETA:** 4/5/25

Price Terms: CIF

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BMOU5242502	722296	Alfalfa Supremi	52	22.616	\$395.00	\$8,933.32
CAIU9788030	0668044	Alfalfa Supremi	52	22.027	\$395.00	\$8,700.67
DRYU9546783	0668240	Alfalfa Supremi	52	21.428	\$395.00	\$8,464.06
EGHU8289572	0668066	Alfalfa Supremi	52	21.836	\$395.00	\$8,625.22
EGHU9492075	0668070	Alfalfa Supremi	52	21.219	\$395.00	\$8,381.51
EGHU9566856	0668183	Alfalfa Supremi	52	21.890	\$395.00	\$8,646.55
EGSU1287078	0668194	Alfalfa Supremi	52	21.845	\$395.00	\$8,628.77
EGSU1306120	0668062	Alfalfa Supremi	52	21.500	\$395.00	\$8,492.50
EGSU9477407	722652	Alfalfa Supremi	52	21.745	\$395.00	\$8,589.27
EMCU1708666	0668199	Alfalfa Supremi	52	22.172	\$395.00	\$8,757.94
EMCU1742486	722658	Alfalfa Supremi	50	21.437	\$395.00	\$8,467.61
EMCU8458722	722346	Alfalfa Supremi	52	21.410	\$395.00	\$8,456.95
EMCU8616860	722343	Alfalfa Supremi	52	21.128	\$395.00	\$8,345.56
EMCU8657025	0668043	Alfalfa Supremi	52	22.072	\$395.00	\$8,718.44
GAOU6931125	0668186	Alfalfa Supremi	52	21.573	\$395.00	\$8,521.34
SKIU9095149	0668191	Alfalfa Supremi	52	21.700	\$395.00	\$8,571.50
TCNU2405549	722702	Alfalfa Supremi	50	20.720	\$395.00	\$8,184.40
TCNU3819184	0668189	Alfalfa Supremi	52	22.426	\$395.00	\$8,858.27
TEMU6443402	722704	Alfalfa Supremi	52	22.036	\$395.00	\$8,704.22
TGBU4346722	0668192	Alfalfa Supremi	52	21.736	\$395.00	\$8,585.72
TIIU5050673	0668045	Alfalfa Supremi	52	22.643	\$395.00	\$8,943.99
TIIU5396141	722708	Alfalfa Supremi	52	23.206	\$395.00	\$9,166.37
TIIU5402727	0668198	Alfalfa Supremi	52	21.936	\$395.00	\$8,664.72
TRHU4417141	722298	Alfalfa Supremi	52	21.736	\$395.00	\$8,585.72
TRHU5107747	722706	Alfalfa Supremi	48	21.128	\$395.00	\$8,345.56
TRHU5807191	722653	Alfalfa Supremi	51	22.680	\$395.00	\$8,958.60
TRHU8672757	722341	Alfalfa Supremi	51	21.437	\$395.00	\$8,467.61
FXGU5312777	722701	Alfalfa Supremi	52	21.945	\$395.00	\$8,668.27

Total Value:			1,550	655.289		\$258,839.14
TXGU5618915	0668184	Alfalfa Supremi	52	22.607	\$395.00	\$8,929.76
TXGU5545634	722344	Alfalfa Supremi	52	21.455	\$395.00	\$8,474.72

Commodity	<b>Crude Protein</b>	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG







